
 JUNIOR ROO RESCUER,
use your Tree Roo knowledge to complete the crossword!

Down
2. Lumholtz's Tree Kangaroos make their homes in the __________, the
habitat they need to thrive.
3. Tree Kangaroos use their long tails to help them _______ when                   
         moving around on branches in the rainforest canopy!
         4. A big threat to Tree Kangaroos is ____, which means you should
always keep an eye out while on the road!
5. Lumholtz's Tree Kangaroos can move each limb independently, which
means they can ____ as well as hop.
7. Meaning "big foot," this is the group kangaroos and wallabies belong to.
9. Animals that mainly eat ______ are known as folivores.
10. Joeys live in their mother's _____ until they are old enough to get out
and move around a little more independently.
12. Planting rainforest _____ can help give Tree Kangaroos a place to live
and plenty to eat!

Across
1. Tree Kangaroos can not ____ with their tails, which means their tails are not prehensile.
6. Lumholtz's Tree Kangaroos are _________. This means they are active both during the day
and night.
8. Tree Kangaroos are __________, just like koalas, wombats, possums, and other kangaroos.
11. Because they can produce milk and have fur, Tree Kangaroos are _______.
12. There are ___ species of Tree Kangaroos in Australia.
13. Joeys can stay with their mothers in the wild until they are _____ years old.
14. A major threat to Tree Kangaroos is ____, so leashes are very important if you're out with
your pet on a walk.
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